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. Which of the following countries is not located in

the continent of Africa?
(a) Gabon

(c) Guinea

(b) Guyana

(d) Guinea-Bissau

. Longest surface mountain range in the world is :

(a) Alpus mountain range
(b)
(c)
(d)

Rokies mountain range
Himalaya mountain range

Andies mountain range

. Which of the following hills are present where

Eastern Ghats and Western Ghats meet?
(a) Nilgiri hills (b) Cardamom hills
(¢) Annamalai hills (d) Sahyadri hills

. Which of the following oceanic current does not

flow in North Atlantic ocean?
(a) Gulf Stream

(c) Norwegian

(b) Banguela
(d) Florida

. The second largest Island of the world is :

(b) Madagaskar

(d) Sumatra

(a) Borneo

(c) New Guinea

. Which one of the following pairs is not correctly

matched?

(a) Foehn— Alps Mountain

(b) Bora — Siberia

(c) Mistral — Rhone Valley

(d) Khamsin —Egypt
Which one of the following rivers is the second
longest river of the world?

(a) Nile

(b) Amazon

(c)

(d)

Mississippi - Missouri
Yangtze

. Which of the following is not an example of

Metamorphic rock?
(b) Marble

(d) Dolomite

) Quartzite

(c) Gneiss

. Which plateau lies between the Aravali and the

Vindhya ranges?
(a) Malwa

(c) Deccan

(b) Chhota Nagpur
(d) Bundelkhand
Which country is called “Bowl of Sugar” in the

world?
(a) India (b) Cuba
(c) China (d) Pakistan
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Out of the following rivers which is not the
tributary of river Sutlej?

(b) Spiti

(d) Beas

(a) Baspa
(c) Ravi
Who made the following statement — *Vegetation

is the true index of climate.”?
(a) Koppen (b) Stamp

(c) Thornthwait (d) Koteshwaram

Which of the following layer is not included in
Homosphere?
(a) Ionosphere (b) Troposphere

(c) Mesosphere (d) Stratosphere

Kodarma is famous for which mineral?
(a) Iron-Ore (b) Mica
(c) Gypsum (d) Bauxite

Pittsburgh of India is —
(a) Bhagalpur (b) Varanasi

(c) Sindri (d) Jamshedpur

In which river Mata Tila Dam is situated?
(a) Narmada (b) Son
(c) Cane (d) Betwa

HVTJ Natural gas pipeline does not have which of
the following gas pumping station?

(a) Aonla (b) Auraiya

(c) Babrala (d) Guna
Which of the following states has the highest sex-

ratio in 20117
(a) Karnataka
(c) Tamil Nadu

(b) Goa
(d) Andhra Pradesh
Which of the following Island is not a part of

Laccadive island?
(b) Agathi
(d) Kalpeni

(a) Tilanchong
(c) Kavaratti
Koppen has used which of the following words for

the climate of Great Plains of India?
(a) Amw (b) As
(d) Aw
How many districts of Uttarakhand are linked with

(c) Cwg

the international boundaries?
(a) 03 (b) 04
(c) 05 (d) 06
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. Which districts of Uttarakhand state recorded

negative population growth during 2001-2011 as
per Census of India, 2011?

(a) Tehri-Garhwal and Bageshwar
(b) Pauri Garhwal and Almora
(c) Uttarkashi and Champawat
(d) Chamoli and Rudraprayag

. ‘Govind National Park’ includes :
(a) Source region of Bhagirathi river
(b) Source region of Bhilangna river
(c) Source region of Yamuna river
(d) Source region of Tons river

. Which one of the following places is not associated
with SIDCUL?
(a) Roorkee

(c) Sitarganj

(b) Selaqui
(d) Haridwar
. ‘Khair (Catechu) is a tree of which type of forest?
(a) Sub-Alpine Forests
(b) Cool-Temperate Forests
(c) Sub-Tropical Forests
(d) Temperate Forests
. If aPanchayat is dissolved, elections are to be held
within month(s).
(a) One (b) Three
(c) Six (d) Nine
. Which one of the following schedules of the
Constitution of India, contains provisions regarding
Anti-defection Act?
(a) 4" Schedule
(b) 6" Schedule
(c) 8" Schedule
(d) 10% Schedule
. How many members are elected from the Lok
Sabha for Public Account Committee?
(a) 07
(b) 10
(c) 15
(d) 22
. The Congress declared complete Independence for
India as its goal at which session?
(a) Lahore Session 1929
(b) Calcutta Session 1928
(c) Allahabad Session 1930
(d) None of the above
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When the Hindi version of National Anthem Jana-
Gana-Mana was adopted by the Constituent
Assembly of India?
(a) 26 November, 1949 (b) 24 January, 1950
(c) 17 November, 1947 (d) 9December, 1946

Among the following who was the first President
of Human Rights Commission of India?

(a) Justice M.N. Venkatchaillaiya

(b) Justice I.S. Verma

(c) Justice K. Rama Swami

(d) Justice Rangnath Mishra
Who among the following was the first Lieutenent
Governor of newly created Union Territory of
Jammu & Kashmir?

(a) Radha Krishan Mathur

(b) Girish Chandra Murmu

(c) Manoj Sinha

(d) Satyapal Malik
To whom the Chief of Defense Staff (CDS) is
military advisor on Tri-services matters?

(a) President of India

(b) Prime Minister of India

(c) Defence Minister of India

(d) Home Minister of India

In which year the Intemational Labour Organisaton
was established?

(a) 1919 (b) 1920

(c) 1921 (d) 1922

Right to Property belongs to which category
amongst the following?

(a) Legal Right (b) FundamentalRight

(c) Natural Right (d) Human Right
Who among the following chairs the Zonal
Council?

(a) Prime Minister of India

(b) Home Minister of India

(c) Chief Ministers of the zones in rotations

(d) Finance Minister of India
Match the List-I with List-IT and select the correct
answer using the code given below the lists ;

List-I List-IT
(Name of States) (Seatsin RajyaSabha)
A. Jharkhand 1. 07
B. Uttarakhand 2.05
C. Chhattisgarh 3.03
D. Punjab 4. 06
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A B C D
(a) 2 4 1 3
(b) 1 2 3 4
(c) 3 1 4 2
(d) 4 3 2 1
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et 27
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(d) =79 ¥ =g
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off ?
(a) 1952 (b) 1967
(c) 1977 (d) 1989
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Codes :

A B C D
(a) 2 4 1 3
(b) 1 2 3 4
(c) 3 1 4 2
(d) 4 3 2 1

In which year, the SAARC Summit, for the first
time was held in India?

(a) 1986 (b) 1995

(c) 2007 (d) None of these

Which of the following Constitutional Amendments
is related to the formation of the National
Commission for Backward Classes in India?

(a) The 100® Constitutional Amendment

(b) The 101* Constitutional Amendment
(c) The 102 Constitutional Amendment
(d) None of these

What is the tenure of a member of State Legislative
Council?

(a) 5 years (b) 6 years

(c) 7 years (d) 4 years

Who was the Prime Minister of India when the
basic principle of India’s Nuclear Doctrine of ‘No
First Use’ was adopted?

(a) LK. Gujaral

(b) Atal Bihari Vajpayee
(c) Manmohan Singh
(d) Indira Gandhi

On which of the following dates the *Civil Services
Day’ is celebrated in India?

(a) July 21 (b) June 21

(¢) May 21 (d) April 21
In which year the Central Information Commission
was established?

(a) 2005 (b) 2006

(c) 2007 (d) 2008
In which year ‘The Air (Prevention And Control
of Pollution) Act was enacted?

(a) 1980 (b) 1974

(c) 1981 (d) 1986
In which year the number of women member of
Parliament was the lowest in Lok Sabha?

(a) 1952 (b) 1967

(c) 1977 (d) 1989
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Who among the following has the right to
participate in the parliamentary proceedings?

(a) Attorney General of India

(b) Solicitor General of India

(c) Chief Justice of India

(d) None of these
The Uttaranchal (Change of Name) Act, came into
existence in which of the following years?

(a) 2000 (b) 2003

(c) 2006 (d) None of these
The State of Uttarakhand came into existence on
which of the following dates?

(a) 9-11-2000 (b) 9-11-2001

(c) 11-11-2001 (d) 5-11-2001
Who among the following was the Chief Minister
of Uttarakhand, who declared in the Legislative
Assembly that Gairsain would be the summer
capital of Uttarakhand?

(a) Trivendra Singh Rawat

(b) Tirath Singh Rawat

(c) Harish Rawat

(d) Puskhar Singh Dhami
Which one of the following commissioners of
colonial Kumaon and Garhwal introduce the
‘Revenue Police’ system?

(a) George William Traill

(b) Lt. Col. Gardiner

(c) Sir Henry Ramsay

(d) Daniel Ibbotson
How many Lok Sabha members are elected from
Uttarakhand?

(a) 7 (b) 5
(c) 3 (d) 8
. “Tobin Tax’ is levied on :
(a) on bodies creating externalities

(b)
(c)
(d)
. Who regulates the market of Agricultural Products
in India?
(a) Essential Commodities Act, 1955
(b)

on the basis of weight
on foreign exchange transactions

on the basis of value

Agricultural Produce Market Committee Act
enacted by States

Agricultural Produce (Grading and
Marketing) Act, 1937

Food Products Order, 1956

&)
U



54.

55.

56.

57.

38.

59.

60.

Frefafed & @ ®H-w1 wy7 U= fammg 9wy
% gAY 4 g &l 82
a) TOH Ira gl T & gt e €
(b) 7& UF T HauAE e
(c) 78 U Ui frwm 2
(d) v o § wH 9 FH & 9N THH dF
B =fey
TREE! YeaHE dre | gfaded et o
A, fretferfan § 0 Wi T on?
(a) THET FT HEAT
(b) TR & Y 1 fawm|
(c) WAfiTF THUFA =1 FH F
) ot e = Ao A
AT g1 HY (ALTATE.) & a8 § T
&l 22
(a) J% fordl off g9 =1 = < 2
(b) 7% faw fawmsfa <o %1 % < 2
(c) g% fa% &= 3wl *i ws & 2|
(d) 7& 29 & HTT S H H 6l ¢

T OF % qod °§ 9f5 gud # gen § @

(a

(a) T 1 FHSEL AT
(b) T T HEARH
(c) Tx # TF I
(d) |1 =1 ST

frefafeon wo= § § =1 @ F97 |l 27
(a) HETERIT ST O 1 @Y A 2
(b) TETERIfA SUR T a1 1 NN T
(c) TXEHIf T T TR HI Y GEARN E
(d) =79 | ®E o 7L
1991 % enfelsr QUR % 9@, RAT Aeicgqaeen

T 1§ § % oftadT gen €2
(a) GDP o fu =1 fewan =ga @a1 2|
(b) FDI &1 3f=: YaTg &g T 2l
(c) Toreft fafmm =m # afg &8 21
(d) = (b) 3 (c)

o2 et Y (Sweat equity shares) , Frefarfas

4§ frg sefed o o 272
(a) |IURY YERENH] 1l

(b) afmmwwﬁl

(c) =i (a) T (b) I

(d) mﬂ"rémﬁmmﬂ

54.

55.

56.

57.

58.

59.

60.

Which of the following statement is not correct
about ‘National Development Council™?

(a) It includes Chief Ministers of all states.

(b) It is a non-constitutional body.

(c) Itis a statutory body .

(d) It should meet at least twice in a year.
Which of the following was not a part of 11% five
year plan inclusive growth strategy?

(a) Reduction in Poverty

(b) Extension of employment opportunity

(c) Reduction in gender inequality

(d) Strengthening of capital market
Which one is correct about IMF?

It grants loan to any country.

It grants loan to only developing countries.
It grants loan to only member countries.

It grants loan to the Central Bank of a
country.

Therise in value of one currency relative to another
is —

(a) Aweakening of a currency

(b) A depreciation of a currency

(c) An appreciation of a currency

(d) A debasement of a currency
Which of the following statement is correct?

(a) Inflation benefits the bond holders.

(b) Inflation benefits the debtors.

(c) Inflation benefits the fixed income groups.

(d) None of these

Which of the following changes have taken place
in Indian Economy after Economic Reforms in
1991?
(a) Share of agriculture in GDP has increased
enormously.
(b) FDI inflows have increased.
(c) Foreign exchange reserve has increased.
(d) Both (b) and (c)
Sweat Equity shares are issued to which of the
following?
(a) Ordinary Shareholders
(b) Preference Shareholders
(c) Both (a)and (b)

(d) Employees of the company
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(c

61. “National Food Security Mission” was launched
to increase the production of which commodity/

commodities?
(a) Wheat (b) Rice
(c) Pulses (d) All of these

62. What kind of Tax System is found in India?
(a) Progressive (b) Degressive
(c) Proportional (d) Regressive
63. Which of the following plan is called “Rolling
Plan™?
(a) Third Plan
(b) Fifth Plan
(c) SixthPlan
(d) Eighth Plan
64. Which of the following statement is correct?
(a) NNP = GNP — Depreciation
(b) NNP = GDP + Net Income from abroad —
Depreciation
(c) Both (a) and (b) are correct
(d) None of these
65. Which of the following is not an example of foreign
direct investment?
(a) The acquisition of existing textile mill
overseas
(b) The creation of a wholly owned business
firm overseas
(c) The purchase of bonds or stocks issued by
Pharma Company overseas
(d) The construction of a new steel plant
overseas

66. The World Trade Organisation (WTO) is sometimes
criticised for all of the following reasons except
that:

(a) it hasno way to solve trade disputes among
member nations.

(b) it is puppet of multinational corporations.

(c) it reduces the sovereignity of member
countries.

(d) it favours free trade over the quality of
products.

67. If Primary deficit is zero, then the amount of
borrowing will be:
(a) more than interest payment

(b) less than interest payment
(c) just equal to the interest payment
(d) None of these
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68.

69.

70.

71.

72.

73

74.

75.

76.

7, TH. €. W. (UNDP) % fod o7 form fae
(HDR) ® o7 s/amar gai® =+ JETd T8
oi?

(a) TAZ AR 2007 (b) TAEL AL 2008

(c) TEEL W 2009 (d) THEL AL 2010
7. . €. W (UNDP) #1 #a fame fre
2020 § 9%E =1 e fasr gEeE (HDI) 1%
1 2

(a) 128 (b) 129

(c) 130 (d) 131
= 4 9 fog 99 § MSME =1 31&ad afishio
feram T an?

(a) 2012 (b) 2014

(c) 2018 (d) 2020
frefeafea o @ =@ @ ‘free e o’
FHE €7
(a) dfeers fafgee worls & IR
(b) TTW wfayfaat
(c) wEae fafiee wore & I

(d) ZFHd wUEd & Rk
FEefta fafam et sifawTen (MIGA) Faf-+a
3.

a) fave &% wyg 9@
¢) Iaug fag frm |
b) STIUTTE T HM H

(d) sFU=™ fowm 99 9
a5 Ud a1 = gH fAEfatad § 9 w5 #
Hure T T 272

(a) T (b) HTANIH T

(c) o3 Hafsd #:X (d) @ =X
freifra § ¥ #9 @ yfaer sawave § fogg
T 72

(a) .. TR 3L, (b) @TASHE.

(c) TA.UTE. (d) suaius.
IwrEvs 4 a2 (VAT) form ad & wmrey foan
=Y

(a) 2007 (b) 2010

(c) 2012 (d) 2005
IWEE & Tohar wedg foa § a9 2020-2021
o =9 fasm Fd%9 "artaa fean T2

(a) 10 (b) 9

(c) 8 (d) 7
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76.

Gender Inequality Index (GII) was introduced in
which Human Development Report (HDR) of
UNDP?

(a) HDR 2007

(b) HDR 2008

(c) HDR 2009

(d) HDR 2010
What is the Human Development Index (HDI) rank
of India in the Human Development Report 2020
of UNDP?

(a) 128 (b) 129

(c) 130 (d) 131
In which of the following year, the latest
classification of MSME was done?

(a) 2012 (b) 2014

(c) 2018 (d) 2020
Which of the following are called gilt edged
securities?

(a) Shares of Public Limited Companies

(b) Government Securities

(c) Shares of Private Limited Companies

(d) Stocks of Mutual Funds

Multilateral Investment Guarantee Agency
(MIGA) 1s related to :

(a) World Bank Group
(b) International Monetary Fund (IMF)
(c) International Finance Corporation (IFC)
(d) International Development Association
(IDA)
Which of the following taxes are abolished by the
Goods and Services Tax?
(a) Property Tax
(c) Value Added Tax

(b) Corporation Tax
(d) Income Tax

Which one of the following organisations is not
located in Uttarakhand?

(a) CBRIL (b) ON.G.C.

(¢) HA.L. (d) BHEL.

In which year VAT was introduced in Uttarakhand?
(a) 2007 (b) 2010
(c) 2012 (d) 2005
In how many hill districts of Uttarakhand, Tea
Development Programme was carried out during
the year 2020-2021?
(a) 10
(c) 8

(b) 9
(d) 7
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78.

79.
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84.

Iwravs | frefafaa § 9 fag ywR & S

] HWeA gy 2020-2021 H FFH off?

(a) TETF

(b) & dF

(c) fasit o=

(d) foon we=rt S+

sTareRt fomm (Smfesm) &1 59 (foan) fg

AT S 272

(a) TUfT= BT

(b) «MHY &= "M

(c) Tare A

(d) SE™ TR Huse

‘T e E?

(a) FTLE Hewd & TNH

(b) HAWEHE T * Joid

(c)@mmﬁaﬂﬁw

(d) T To & SarrgE

Ty 2021 FT TET WA F A6 EHER

i g fean T

(a) Y AAE, TG eHeEA 9 feremieE
i =1

(b) =fae Jferm 7 smEn yEEREE *:i

(c) wnfa foree @ Sfae ™ =i

(d) S A Hl

a4 2021 ), 268 HIF T2 ey Tadd Fee

HU-26 1 A Fal g2

(a) =% H (b) 2= H

(c) TarET o (d) difsm o

S Hel - Ty Ty 0% (WFfa 2q fava

SF HN) F FelF fom 2

(a) TYEE ¥R (b) HETHE TIUET

(c) &R T (d) WRAE ST e
. IOHM T, 9Nd TR’ 1 Helled A R
2

(a) = favoo (b) T=1 YU

(c) w1 & (d) uRE T

H FogA g ° 19 1 | Ry wam g
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. Which among the following banks have the lowest

number of branches in Uttarakhand in the year
2020-2021?

(a) Nationalised Banks
(b) Regional Banks
(c) Private Banks
(d) District Co-operative Banks
Who is known as father of Genetics?
(a) Hargobind Khurana
(b) Thomas Hunt Morgan
(c) Robert Brown
(d) Johann Gregor Mendel
What are ‘Ramsar Sites’?
(a) Monuments of International Importance
(b) Mountains of International Importance
(c) Wetlands of International Importance
(d) Volcanoes of International Importance

In the year 2021, the Nobel Prize in Chemistry was
awarded to :
(a) Syukuro Manabe, Klaus Hasselmann &
Giorgio Parisi
(b) David Julius & Ardem Patapoutian
(c) Benjamin List & David MacMillan
(d) Abdulrazak Gurnah
In the year 202 | where was the 26% United Nations
Climate Change Conference COP-26 held?
(a) New York (b) Tokyo
(c) Glasgow (d) Beijing
The logo of International Organisation — WWF
(World Wide Fund for Nature) is:
(a) Asiatic Lion (b) Giant Panda
(c) Musk Deer (d) Indian Wild Ass
At present, the highest civilian award of the
‘Republic of India’ is —
(a) Padma Vibhushan
(b) Padma Bhusan
(c) Padma Shri
(d) Bharat Ratna
Remote Sensing uses which of the following in its
applications?
(a) Electric waves
(b)
(c)
(d)

Sonar waves
Gamma rays

Electromagnetic waves
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94.
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(a) U WK H AF IA
(b) Tk T F1 AH

(c) YARR ] T SASIa

(d) Ffa (Ef) =1 TF g5

forg vered # o€ S W e solei B © SN
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)

(a) FHACTH (b) W

(c) =TT (d) sTE=TeT®
TSl I MG Afuemam wR g

(a) a7 (b) 9 |

(c) frefa = (d) = ¥ FTE e

frefatea 5 9 foFg s=g &1 941 =1 F9F (S
I el S 22

(a) wgam (b) &4 (HM7)

(c) Hew (d) T | F1E 7
Tl T o faerfom &1 i & www g 82
(a) foerf @ (d) forerfe =

(c) forfo (d) foerfoT <1

gy & FHAH THEE H GgE YR B
_ H wuEha fen s g

(a) T AEISH (b) = A%

(c) T SAlFHTSH (d) T SFEI

= o ° fre TeEfE g9 ® Seges Hataa
22

(a) IERT (b) WrEHA

(c) Tafrs (==m) (d) =Jfereh 1A
arafoes sifemifsT gam o srda SwErT |
SEm g

(a) FESEMEMEE 9 FAa e
(b) Tuitfwen el 9 wEEE
(c) TR d TSy
(d) TEshfaay & fewrwisy

. B g GHEEl % HeA w1 GHA &5 FeeA
2

(a) THIfE=T (b) THEHA

(c) THe (d) 31 FfER

R FE TF A HIGH (A1 1) 791 8eqe o
HIGH (@1 1) %, 9 GATE @:

(a) OR 7= (b) AND 712
(c) NOT e (d) NOR T2
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94.

Jhoom is :
(a) A type of folk dance
(b)
(c)
(d)

The substance which has a large number of free

Name of a river
A tribe in the North-East
A type of agriculture (cultivation)

electrons and offer a low resistance is called :
(a) Insulator (b) Inductor
(c) Conductor (d) Semi-conductor
Light travels at a maximum speed in :
(a) Air (b) Water
(c) Vacuum (d) None of these

Which among the following animal is called as —
“Ploughers of the soil™?
(a) Earthworm

(c) Frog

(b) Snake
(d) None of these
Scurvy disease is caused by the deficiency of which
vitamin?

(a) Vitamin A (b) Vitamin B,

(c) Vitamin C (d) Vitamin D
The sperms used for artificial insemination of cattle
are stored in :
(b) Dryice

(d) Liquid ammonia

(a) Liquid nitrogen

(c¢) Liquid oxygen
To which of the following chemical groups —
Cellulose belongs?

(a) Carbohydrates (b) Proteins

(c) Lipids (d) Nucleic acids
Two bacteria found to be very useful in genetic
engineering experiments are

(a) Nitrosomonas and Kliebsiella

(b) Escherichia coli and Agrobacterium

(c) Nitrobacter and Azotobacter

(d) Rhizobium and Diplococcus
A transition zone between two biological
communities is referred to as :

(a) Ecosystem

(b) Ecotone

(c) Ecad

(d) Eco-barrier
If any one input is HIGH (or 1), and output is also
HIGH (or 1), such Gate is :

(a) OR Gate

(b) AND Gate

(c) NOT Gate

(d) NOR Gate
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100.
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103

f&u My et @ihe ®1 IEEqE C ®:
A.—.

1—

B
1

(a) 0 (b) 1
(c) A (d) B
OSI TH{H Ted # 9 o W IP TSH
W B E?
(a) Network T=
(c) Transport R

(b) Application T
(d) Datalink &=

frefafea & @ #m €@ o foes § nufrs
AE €7

(a) s fe=n (b) wx ferm
(c) ™ (d) ¥ grEa

CPU ¥ 2@ g2 &1 % =1 & 9 %7 @
22

(a) ETHIE UAMH Y (b) Tirsiehel 1 HET
(c) WRMH ®R &FA (d) T8 ¥ HE T8

IT@Eve | ‘il ke’ & s S 67

(a) G SO

(b) =€l 9ER WE

(c) FHeam fog uem

(d) T 9L

ITEvE ¥ fHE TE W R gen fame faam
J T “efrer o<t TR w1 i fEar

(a) XBUE (b) =T

(c) HHRITR (d) =wreft

TG § 99 STEUE HEYH ] T e 9v o
Te oi?

(a) 1896 (b) 1906
(c) 1910 (d) 1950
A FSTe AT H1 fFE S W
&q Tt e w22
(a) femmerdt &gl gm
(b) ®red
(c) fem dgam
(d) e
T W HH W STEUE F1 TSR 9 22
(a) @@ ORLLE
(c) Tuw (d) #& FOd

95.

96.

97.

98.

H,

100.

101.

102.

103.

The output C of given logic circuit is :

A__
1_
B
1
(a) 0O (b) 1
(c) A (d) B

IP addresses are used on which layer of OSI
reference model?

(a) Network Layer (b) Application Layer
(d) Datalink Layer
Which of the following is primary memory in
Computer System?

(a) Hard Disk (b) Compact Disk

(c) RAM (d) Pen Drive
Which ofthe following is function of Control Unit
in CPU?

(a) Decode Program Instruction

(c) Transport Layer

(b) Perform Logical Operations

(c) Stores Programme

(d) None of these
‘Who initiated the ‘Maiti Movement’ in Uttarakhand?

(a) Sundar Lal Bahuguna

(b) Chandi Prasad Bhatt

(c) Kalvan Singh Rawat

(d) Medha Patkar
At which place in Uttarakhand did the Indian
Meteorological Department install a Doppler
Weather Radar?

(a) Dehradun (b) Chakrata

(c) Mukteshwar (d) Chamoli
In which year the Forest Research Institute was
established in India?

(a) 1896 (b) 1906

(c) 1910 (d) 1950
Kedarnath Wildlife Sanctuary has been established
for the conservation of which animal?

(a) Himalayan Musk Deer

(b) Elephant

(c) Snow Leopard

(d) Monal
Which of the following is a state tree of
Uttarakhand?

(a) Sal

(c) Buransh

(b) Teak
(d) Brahma Kamal

£
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frefafea o | 9 Aee wfd [TERR- 2021 9
TTa fean T en?

(a) wf@En @@ 9 st guaa

(b) i foee @ Sfae i

(c) fava wma wrEn

(d) afa =TEHR
SO Telq R HEH A WoH WRdr Afeat wiA
2?2

(a) srefomn fomer OREREARIES]

(c) femrt ues (d) @¥rar <
TRt @@ WY H GRS Hared AMNE
FHE 9Rd ™ fEE 99 weE e mne?

(a) 2001 (b) 1998

(c) 2009 (d) 1996
o 3IqEre fhan T o1, s 6 fRe andE et
% WY wed 872

(a) HIATHT (b) = STEATETEN

(c) TATETE (d) TierR
T gee fadry fewr wie” fm o 9 fege <fia
2?2

(a) qorel e (b) HE e

OEEEERE (d) ®fET T
fFa aRdE SiEgUd w1 SEE-2022 % ol
ifeRa Teram = &n?

(a) TRH H HiweH

(b) ®f=m wi vien

(c) T 79 T Hice

(d) wEfen fag wrr
foFg and™ T 9 990 2022 ° BH =R
3R FArER A (TH.UEAEL) 2.0 Y& #1272

(a) Mg T=W (b) =@

(c) e (d) e
STet B e $ W W TE % e qa
HrHd {&d g SIS eSSl WA F1 AW
A |

(a) A WA

(c) = <1

(b) =M i
(d) = =i

. fava e vas 2021 fred Sfan?

(a) Ffetes SFegumE
(b) TTE AT

(c) fen ferm

(d) Te=r®E ARy
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Who among the following was awarded Nobel
Peace Prize —20217?
(a) Maria Ressa and Dmitry Muratov
(b) Benjamin List and David MacMillan
(c) World Food Programme
(d) Abiy Ahmed
Who is the first Indian woman to scale Mt.
Annapurna?
(a) Arunima Sinha (b) Priyanka Mobhite
(c) Shivangi Pathak (d) Anita Devi
In which vear India’s highest Civilian Honour
‘Bharat Ratma’was awarded to Late Lata Mangeshkar?
(a) 2001 (b) 1998
(c) 2009 (d) 1996
‘Mitali Express’, anew passenger train, which was
inaugurated recently, connects Dhaka with which
Indian city?
(a) Kolkata (b) New Jalpaiguri
(c) Guwahati (d) Gangtok
“The World Beneath His Feet” is the biography of
whom of the following?
(a) Pullela Gopichand (b) Saina Nehwal
(c) Nawab Pataudi (d) Sachin Tendulkar

Which Indian documentary was nominated for the
Oscars— 20227

(a) House of Secrets

(b) Searching for Sheela

(c) My Name is Salt

(d) Writing with Fire
Which Indian state has launched the Student
Startup and Innovation Policy (SSIP) 2.0 in
January 20227

(a) Andhra Pradesh

(c) Gujarat

(b) Kerala
(d) Haryana
Name the unique strategy adopted by North-East
Frontier Railway to keep wild elephants away from
railway tracks.

(a) PlanFlee

(b) PlanBee

(c) PlanTea

(d) Plan Sweep
Who won World Rapid Chess 2021?

(a) Nodirbek Abdusattorov

(b) Magnus Carlsen

(¢) Ding Liren

(d) Hikaru Nakamura
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foava @it feag’ e Tamn s 82

(a) 25 fegmar (b) 21 =

(c) 16 Toam=r (d) 30 =T
freafafeg aaereEt § 9 fege ufafed @
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)

(b) = A 2TeE

(c) ¥ AV U2
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(c) 9
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When is the *“World Ozone Day’ celebrated?

(a) 25% December (b) 21 April

(c) 16" September (d) 30" January
Which of the following newspapers won “Pulitzer
Prize 2021 in prestigious public service category?

(a) The Wall Street Journal

(b) The New York Times

(c) The Washington Post

(d) New York Post
Which of the following is not rightly matched?

Name of Player Medals Won in Tokyo
Olympics 2020
(a) P.V.Sindhu — Bronze Medal
(b) Bajrang Punia — Silver Medal
(c) Meerabai Chanu — Silver Medal
(d) Neeraj Chopra — Gold Medal

Major Dhyan Chand Sports University is being
established at which place in India?

(a) Meerut (b) Agra

(c) Noida (d) Kanpur
In December 2020, the Home Ministry declared
which of the following states ‘Disturbed Area’ for

six months under Armed Forces Special Powers
Act, 19587

(a) Jharkhand (b) Nagaland

(c) West Bengal (d) Punjab
Which of the following railway stations of India
has been recently developed with modern
amenities like the airport with Public Private
Partnership?

(a) New Delhi

(b) Rani Kamlapati Station, Bhopal

(c) Pune

(d) Chhatrapati Shivaji Terminus, Mumbai
Match the List-I with List-IT regarding world’s top
Information Technology Companies and their CEO
and choose the correct answer from the codes

below :
List-I List-IT
(Company) (CEO)
A. Google 1. Satya Nadela
B. Microsoft 2. Sunder Pichai
C. Twitter 3. Parag Agarwal
D. Adobe 4, ShantanuNarayan
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A B C D
(a) 1 3 4 2
(by 2 1 3 4
(c) 1 2 4 3
(dy 4 3 2 1

120. ey 2021 § WerEsh s aE °9e 3 ufeEn %

TIH 98 7L 37F 1 ferem=ard wE fwan?
(a) AUET SR AE 3T, SR

(b) FIR TgT

(c) Tewell &am a7gT

(d) T SR

121. 9f9g ‘TmErR gen’ E H 9 e 9wl 1=

o smifaa fean s 22
(a) TSUA
(c) 7Y W&9I

(b) ufg=m FmA
(d) TeEIH

121.

122. frAfafea & 9 9 foen 9 gdgs =wf=d

(zmn) = foa Mieed TaE sTEre-2022 a2

(a) =71

(b) = UlaX 31F T =M

(c) fon f=e

(d) T & BT

123. gHfea Hifsg:
e s 123.

A, HTEAIEIH 1. I G

B. e 2. e

C. Hfage 3. H

D. Hifedizm 4. 3T g
he:

A B C D

(a) 1 3 2 4

(b) 2 4 1 3

() 2 1 4 3

(d) 4 2 1 3

124. TR % WAfUF T f59 dfkw <o w1 gufid

# 124.
(a) & (b) =%

(c) =&m (d) sfee

125. fefafea § § fF9 =@ W y¥g ‘549 ufer’

1 SRS B3 o172
(a) Trferg

(c) #YTU

(b) =remed
(d) =M
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Codes :

A B [ & D
(a) 1 3 4 2
(by 2 1 3 4
(c) 1 2 4 3
(dy 4 3 2 1

Where did the Prime Minister Sri Narendra Modi
lay the foundation stone of the largest airport in
Asia in November 20217

(a) Noida International Airport at Jewar

(b) Kushinagar Airport

(c) DelhiAirport

(d) Kempegowda International Airport in

Bengaluru

The famous ‘Gangasagar Mela® is held in which
of the following states of India?

(a) Gujarat (b) West Bengal

(¢c) Andhra Pradesh (d) Rajasthan
Which of the following films won Golden Globe
Award-2022 for Best Motion Picture (Drama)?

(a) Dune

(b) The Power of the Dog

(¢) King Richard

(d) The Lost Daughter

Match the following :
Dance State
A. Bharatanatyam 1. Uttar Pradesh
B. Kathak 2. Tamil Nadu
C. Kuchipudi 3. Kerala
D. Mohiniattam 4. Andhra Pradesh
Codes :
A B C D
(a) 1 3 2 -+
(b)y 2 4 1 3
(c) 2 1 + 3
(dy 4 2 1 3
The largest hymns of Rigveda is dedicated to which
Vedic god?
(a) Agni (b) Indra
(c) Varuna (d) Aditya

In which of the following place the first Jain
Council was held?

(b) Vaishali
(d) Ujjain

(a) Patliputra
(c) Mathura
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(a) TA=TARCOH

(b) EHSSTEFTT

(c)ﬁfﬁm

(d) =M9e
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(c) 1:35 (d) 1:10
e o
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3feasine g a9 ¥ wEfem 917

a) =T 99

(b) 9UEA T

(c) = &
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Which among the following play was written by
Harshavardhan?

(a) Harshacharita

(b) Kadambari

(c) Devichandraguptam

(d) Priyadarshika

Which of the following dynasty is associated with
the female king Rudrma Devi?

(a) Eastern Ganga (b) Hoyasala

(c) Kakatiya (d) Westem Chalukya
The author of ‘Lilavati’, Bhaskar-IInd was —

(a) Physician (b) Mathematician
(c) Musician (d) Sculptor
The religious text which explains about the eight
different phases of agriculture works

(a) Avdanashataka

(b) Aryamanjushrimulakalpa

(c) Milindapanho

(d) Deepavansa

What was the ratio of Gold-Silver coins in the
Shaka-Kshtrapa period?

(a) 1220 (b) 1:25

(e)gli*35 (d) 1:10
Gadhaiya was a .

(a) Coin (b) Land Tax

(c) Trade Tax (d) Military Officer
Udiyanjiral belongs to which dynasty?

(a) Chera dynasty

(b) Pandyas dynasty

(¢c) Chola dynasty

(d) Satavahana dynasty
Which among the following Rashtrakuta ruler built
the Kailas temple of Ellora?

(a) Govind-IPd (b) Amoghavarsha

(c) Indra-IIT (d) Krishna-I*
In Mauryan period ‘Pranayam’ was —

(a) Emergency Tax (b) Love Marriage

(¢) Land Grant (d) Land Tax
Which among the following Rashtrakuta King
defeated Pratihara ruler Nagabhatta-II?

(a) Dhruva (b) Govind-IIT*

(c) Indra-IIT (d) Krishna-III
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136.

137.

138.

139.

140.

141.

144.

145.

‘TR AR W " R S S en?

(a) @ (b) wferF T
(c) Toer =t (d) FIIET T
FreAferfea & § % seqarae =1 giagdr T&f o2

(a) T e

(b) AEEEH =Har=n

(c) Il HEH

(d) wfer sregfen

fasaTR wTE § 30 9RG F1 e T wew
=1 TEdl aR fawme ga?

(a) wifefsgn (b) F&FTH

(c) Fo=TH (d) H@TAE
frafafe o | fFeq ‘@oET-3a-wae | AHE
T&TF 1 AT 17

(a) &89 Taami (b) TR G

(c) o™ 39 faust (d) Toa=eElm sl

freAferfen o & w4 ‘el S w1 ueE 12
o7

(a) z_argérw (b) JH® @A

(c) TETd @M (d) giH

frefatem § B F Hre e w1 weE @
o2

(a) o @ (b) S TEE

(c) THl. UgEsUER (d) W BEE g
. 9 H o foshser e ey fean an?

(a) @€ frm (b) TE THR

(c) <eH HEHR (d) e =5
. T 99 WiHed S & 9 fF eT=ie &
N TER T A2

(a) THF HARE AT
(b) STl 9T AR
(c) el R HA=_eH
(d) o BIEl A=
Tl THHTE @ H1 9fas Fia e 2 geede’
g 9 o foagt w oeq?
(a) hTCE (b) S
(c) el (d) et
1929 H TeTe Ml F Ty wmm W eEEtE gm
% AR ®1 w@ Ul fFaA?
(a) HrEA (b) sremrel
(c) faret (d) wEa
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137.

138.

139.

140.

141.

143.

144.

145.

Who was known as "“Hazar-Dinari’?
(a) Balban
(b) Malik Kafur
(c) Sikandar Lodi
(d) Qutubuddin Aibak

Who among the following was not the rivals of
Tltutmish?

(a) Tajuddin Yeldoz
(b) Nasiruddin Kubacha
(c) Ali Mardan

(d) Malik Altunia

Which South Indian dance tradition was firstly
developed during the time of Vijaynagar?

(a) Mohiniattam (b) Yakshagaan

(c) Krishnaattam (d) Bharatanatyam
Who among the following wrote the book
*Khazain-ul-Futuh'?

(a) Hasan Nizami (b) Amir Khusrau
(c) Minhas-us-Siraj (d) Ziauddin Barni
Who among the following was not a member of

‘Nurjahan’s Junta’?
(a) Itimad-ud-daulah (b) Asaf Khan
(c) Mahabat Khan (d) Khurram

Who among the following was not a member of
Cabinet Mission?
(a) Pathik Lawrence

(c) A.V.Alexander

(b) John Simon
(d) SirStaford Cripps

. Who introduced ‘Financial Decentralisation’ in

India?
(a) Lord Rippon (b) Lord Dalhousie
(c) Charles Metcaff (d) Lord Mayo
During which movement the two brothers
Gangaram and Kheemdev were martyred?
(a) Salt Satyagraha Movement
(b) Dola-Palki Movement
(c) Kuli-Begar Movement
(d) Quit India Movement
In which language the famous work of Raja
Rammohan Roy ‘Gift to Monotheists’ was written?
(a) Persian (b) English
(c) Arabic (d) Bengali
In 1929 at which place Mahatma Gandhi completed
his translation of Anasakti Yoga?
(b) Almora

(d) Ranikhet

(a) Kausani

(c) Nainital
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146. 9™ 99 | fao@ & 909 fegd 1= =1 wsn 146. Who was the ruler of the Tehri state at the time of

TE 91? its merger in the Indian Union?
(a) CE vTE (b) Hifd e (a) Narendra Shah (b) Keerti Shah
(c) Ward wIE (d) TEE VTR (c) Pratap Shah (d) Manvendra Shah
147. feedt foma = 9ug 49 $9 92 147. Who was the first ruler of Tehri State?
(a) W IR (b) wferd v (a) Sudarshan Shah (b) Lalit Shah
(c) wfewd wE ) HE e (c) Mabhipat Shah (d) Fateh Shah
148 7] TE TEe B - 148. Kalu Mah.ra isassociated with
@) Hﬁ"ﬁ S SR (a) Kuli Begar Movement
(b) 1857 % fogle @ (b) Revolt of.1857
D o s i
(), TRl S L 149. Which of the following medieval book is not the
149. Frfefied MemTel i § W I ® source of the history of Uttarakhand?
sfirerd BET Hr ?{ﬁ*%? .. (a) Tarikh-i-Badauni  (b) Jahangirnama
(@) W—F—W{ﬁ (b) (c) Shahjahannama (d) Babarnama
() REwE (d) ST 150. The equator does not pass through which of the
150. forvarg - ¥ fomr o @ form <o @ 7 e 22 following countries?
(a) == (b) et (a) Kenya (b) Mexico
(c) TUeRfmE (d) sTsiret (c) Indonesia (d) Brazil
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